Coit Road Widening (Main Street to Buckeye Drive)
PROJECT NO. 20104
BID NO. 2108-100

City of Frisco

	GILEGRED DT. BU Natio, F.E. 11/13/2021	BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6			
				Mario	Sincola	DDM Construction		Tiseo Paving Co		Ragle Inc		McMahon Contracting LP		Reliable Paving	
Item No.	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
	I ID - PAVING IMPROVEMENTS														
P1	MOBILIZATION (5% MAX)	1	LS	\$315,000.00	\$315,000.00	\$325,000.39	\$325,000.39	\$130,500.00	\$130,500.00	\$340,000.00	\$340,000.00	\$246,110.24	\$246,110.24	\$175,000.00	\$175,000.00
P2	BARRICADES, SIGNS, AND TRAFFIC HANDLING (INCLUDING ALL	1	LS	\$92,500.00	\$92,500.00	\$90,000.00	\$90,000.00	\$67,000.00	\$67,000.00	\$340,000.00	\$340,000.00	\$233,902.27	\$233,902.27	\$52,000.00	\$52,000.00
P3	GENERAL SITE PREPARATION (INCLUDES TREE REMOVAL)	1	LS	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$488,000.00	\$488,000.00	\$340,000.00	\$340,000.00	\$163,371.28	\$163,371.28	\$156,000.00	\$156,000.00
P4	REMOVE SMALL SIGNS, SUPPORTS AND ASSEMBLIES	12	EA	\$150.00	\$1,800.00	\$100.00	\$1,200.00	\$105.00	\$1,260.00	\$100.00	\$1,200.00	\$116.00	\$1,392.00	\$123.00	\$1,476.00
P5	REMOVE EXISTING INLET	2	EA	\$1,600.00	\$3,200.00	\$1,200.00	\$2,400.00	\$2,205.00	\$4,410.00	\$750.00	\$1,500.00	\$920.04	\$1,840.08	\$3,700.00	\$7,400.00
P6	REMOVE FIRE HYDRANT	1	EA	\$1,700.00	\$1,700.00	\$600.00	\$600.00	\$1,260.00	\$1,260.00	\$900.00	\$900.00	\$869.98	\$869.98	\$1,650.00	\$1,650.00
P7	RELOCATE WATER VALVE	1	EA	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00	\$7,455.00	\$7,455.00	\$650.00	\$650.00	\$3,889.74	\$3,889.74	\$1,700.00	\$1,700.00
P8	REMOVE LIGHT POLE FOUNDATION	12	EA	\$360.00	\$4,320.00	\$450.00	\$5,400.00	\$656.25	\$7,875.00	\$800.00	\$9,600.00	\$1,379.24	\$16,550.88	\$1,400.00	\$16,800.00
P9	REMOVE PEDESTRIAN SIGNAL POLE AND FOUNDATION	2	EA	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00	\$1,260.00	\$2,520.00	\$3,000.00	\$6,000.00	\$1,379.24	\$2,758.48	\$1,400.00	\$2,800.00
P10	SAWCUT & REMOVE EXISTING CONCRETE PAVEMENT (INCLUDING	5,794	SY	\$40.00	\$231,748.00	\$25.00	\$144,842.50	\$25.15	\$145,711.56	\$20.00	\$115,874.00	\$27.49	\$159,268.81	\$32.00	\$185,398.40
P11	REMOVE EXISTING SIDEWALKS AND RAMPS	790	SY	\$12.00	\$9,480.00	\$10.00	\$7,900.00	\$15.75	\$12,442.50	\$18.00	\$14,220.00	\$10.02	\$7,915.80	\$23.00	\$18,170.00
P12	REMOVE EXISTING STRIPING, MARKINGS, AND BUTTONS	1	LS	\$19,800.00	\$19,800.00	\$22,000.00	\$22,000.00	\$39,962.90	\$39,962.90	\$6,000.00	\$6,000.00	\$44,149.60	\$44,149.60	\$7,700.00	\$7,700.00
P13	REMOVE EXISTING WATER SERVICES AND CAP AT MAIN LINE	3	EA	\$1,000.00	\$3,000.00	\$1,800.00	\$5,400.00	\$3,255.00	\$9,765.00	\$650.00	\$1,950.00	\$1,049.64	\$3,148.92	\$1,450.00	\$4,350.00
P14	PROJECT SIGN	2	EA	\$1,200.00	\$2,400.00	\$500.00	\$1,000.00	\$550.00	\$1,100.00	\$1,200.00	\$2,400.00	\$482.86	\$965.72	\$300.00	\$600.00
P15	CHANGEABLE MESSAGE SIGNS (ALLOWANCE)	2	EA	\$4,000.00	\$8,000.00	\$12,500.00	\$25,000.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$17,400.00	\$34,800.00	\$53,100.00	\$106,200.00
P16	STORM WATER POLLUTION PREVENTION PLAN	1	LS	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$5,625.00	\$5,625.00	· ·	\$340,000.00	\$4,188.76	\$4,188.76	\$14,000.00	\$14,000.00
P17	UNCLASSIFIED ROADWAY EXCAVATION	23,717	CY	\$17.00	\$403,189.00	\$18.00	\$426,906.00	\$19.00	\$450,623.00	•	\$687,793.00	\$21.57	\$511,575.69	\$26.00	\$616,642.00
P18	12" LIME STABILIZED SUBGRADE	30,588	SY	\$9.00	\$275,291.19	\$5.00	\$152,939.55	\$4.00	\$122,351.64	\$4.50	\$137,645.60	\$5.24	\$160,280.65	\$9.00	\$275,291.19
P19	HYDRATED LIME (65 LB/SY)	994	TON	\$175.00	\$173,969.25	\$210.00	\$208,763.10	\$203.00	\$201,804.33	\$169.00	\$168,004.59	\$194.88	\$193,732.16	\$250.00	\$248,527.50
P20	12" FLEXIBLE BASE W/ TxDOT TYPE II GEOGRID	376	SY	\$45.00	\$16,920.00	\$40.00	\$15,040.00	\$36.95	\$13,893.20	\$40.00	\$15,040.00	\$20.26	\$7,617.76	\$61.00	\$22,936.00
P21	9" REINFORCED CONCRETE PAVEMENT W/ 6" MONO CURB	25,886	SY	\$62.00	\$1,604,929.52	\$64.00	\$1,656,701.44	\$59.05	\$1,528,565.94			\$69.93	\$1,810,205.18	\$85.00	\$2,200,306.60
P22	4" REINFORCED CONCRETE PAVEMENT (SIDEWALK)(CLASS A)	250	SY	\$58.00	\$14,500.00	\$60.00	\$15,000.00	\$52.50	\$13,125.00		\$12,500.00	\$63.01	\$15,752.50	\$70.00	\$17,500.00
P23	7" HES REINFORCED CONCRETE PAVEMENT W/ 6" MONO CURB	285	SY	\$100.00	\$28,500.00	\$85.00	\$24,225.00	\$93.50	\$26,647.50	\$100.00	\$28,500.00	\$104.96	\$29,913.60	\$132.00	\$37,620.00
P24	6" REINFORCED CONCRETE PAVEMENT (SIDEWALK) (CLASS A)	800	SY	\$58.00	\$46,400.00	\$60.00	\$48,000.00	\$60.90	\$48,720.00	\$55.00	\$44,000.00	\$73.30	\$58,640.00	\$75.00	\$60,000.00
P25	BARRIER FREE RAMP (TYPE 7) (5'-8', PER PLAN') (ALLOWANCE)	20	EA	\$2,400.00	\$48,000.00	\$2,000.00	\$40,000.00	\$2,100.00	\$42,000.00	\$2,100.00	\$42,000.00	\$2,600.00	\$52,000.00	\$2,875.00	\$57,500.00
P26	MONOLITHIC MEDIAN NOSE (TYPE 2)	18	EA	\$1,500.00	\$27,000.00	\$1,700.00	\$30,600.00	\$1,400.00	\$25,200.00	\$1,000.00	\$18,000.00	\$2,256.63	\$40,619.34	\$2,875.00	\$51,750.00
P27	MEDIAN PAVERS W/ CONCRETE BASE	5,400	SF	\$12.00	\$64,800.00	\$15.00	\$81,000.00	\$15.75	\$85,050.00	\$12.00	\$64,800.00	\$13.39	\$72,306.00	\$26.00	\$140,400.00
P28	PANEL REPLACEMENT (HES) (FULL DEPTH) (INCLUDES	1,800	SY	\$125.00	\$225,000.00		\$270,000.00	\$190.00					\$234,036.00	\$217.00	
P29	9" HES REINFORCED CONCRETE PAVEMENT (STREET) (CLASS P1 OR P2)	770	SY	\$95.00	\$73,150.00	\$120.00	\$92,400.00	\$120.00	\$92,400.00	\$80.00	\$61,600.00	\$94.54	\$72,795.80	\$162.00	\$124,740.00
P30	REMOVE EXISTING PAVERS (INCLUDING CONCRETE BASE)	2,000	SF	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$5.25	\$10,500.00	\$2.00	\$4,000.00	\$19.41	\$38,820.00	\$1.50	\$3,000.00
P31	PROTECT EXISTING TREES (INCLUDING WATERING)	1	LS	\$32,000.00	\$32,000.00	\$43,000.00	\$43,000.00	\$55,000.00	\$55,000.00	\$70,000.00	\$70,000.00	\$18,169.96	\$18,169.96	\$91,000.00	\$91,000.00
P32	18" CL III RCP	20	LF	\$225.00	\$4,500.00	\$160.00	\$3,200.00	\$212.10	\$4,242.00	\$250.00	\$5,000.00	\$168.58	\$3,371.60	\$705.00	\$14,100.00
P33	10' STANDARD CURB INLET	2	EA	\$7,000.00	\$14,000.00	\$5,300.00	\$10,600.00	\$6,090.00	\$12,180.00	\$6,500.00	\$13,000.00	\$5,510.00	\$11,020.00	\$8,650.00	\$17,300.00
P34	ADJUST EXISTING STORM SEWER MANHOLE (REPLACE W/ NEW	2	EA	\$2,900.00	\$5,800.00	\$3,200.00	\$6,400.00	\$4,200.00	\$8,400.00	\$1,200.00	\$2,400.00	\$4,420.51	\$8,841.02	\$3,600.00	\$7,200.00
P35	FURNISH AND INSTALL FIRE HYDRANT ASSEMBLY (INCLUDING	1	EA	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$11,760.00	\$11,760.00	\$4,500.00	\$4,500.00	\$5,120.89	\$5,120.89	\$9,200.00	\$9,200.00
P36	LOWER EXISTING 12" WATER LINE (INCLUDES ALL FURNISHINGS)	1	LS	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$24,255.00	\$24,255.00	\$10,000.00	\$10,000.00	\$25,494.21	\$25,494.21	\$20,000.00	\$20,000.00
P37	SILT FENCE (ALLOWANCE)	2,000	LF	\$1.85	\$3,700.00	\$2.50	\$5,000.00	\$1.80	\$3,600.00	\$3.00	\$6,000.00	\$2.15	\$4,300.00	\$2.40	\$4,800.00
P38	CONSTRUCTION ENTRANCE/EXIT (INSTALL/MAINTAIN/REMOVE)	4	EA	\$3,400.00	\$13,600.00	\$350.00	\$1,400.00	\$2,572.50	\$10,290.00	\$5,000.00	\$20,000.00	\$3,328.04	\$13,312.16	\$3,000.00	\$12,000.00
P39	STRAW INLET PROTECTION (INSTALL/MAINTIN/REMOVE)	65	EA	\$110.00	\$7,150.00	\$140.00	\$9,100.00	\$131.25	\$8,531.25		\$6,500.00		\$8,980.40	\$295.00	\$19,175.00
P40	SMALL ROADWAY SIGNS	17	EA	\$500.00	\$8,500.00	\$430.00	\$7,310.00	\$509.25	\$8,657.25		\$11,050.00		\$9,564.20	\$443.00	\$7,531.00
P41	REFL PM W/RET REQ TY I (W) (4") (PUPPY TRACK)	1,482	LF	\$0.75	\$1,111.50		\$1,185.60	\$3.15	*		•		\$5,157.36	\$1.25	\$1,852.50
P42	REFL PM W/RET REQ TY I (W) (4") (BRK)	41,150	LF	\$0.75	\$30,862.50	\$0.80	\$32,920.00	\$0.50	\$20,575.00	\$0.24	\$9,876.00	\$0.52	\$21,398.00	\$1.25	\$51,437.50

Coit Road Widening (Main Street to Buckeye Drive)
PROJECT NO. 20104
BID NO. 2108-100

City of Frisco

CHECKED BY: Bo Ratto, P.E. 11/15/2021		BID	DER 1	BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6		
			Mario	Sincola	DDM Co	nstruction	Tiseo Paving Co		Ragle Inc		McMahon Contracting LP		Reliable	Paving
P43 REFL PAV MRK TY I (W) (8") (SLD)	6,330	LF	\$1.50	\$9,495.00	\$1.70	\$10,761.00	\$2.65	\$16,774.50	\$1.58	\$10,001.40	\$2.90	\$18,357.00	\$2.50	\$15,825.00
P44 REFL PAV MRK TY I (W) (24") (SLD)	2,775	LF	\$9.00	\$24,975.00	\$10.00	\$27,750.00	\$8.95	\$24,836.25	\$5.50	\$15,262.50	\$9.86	\$27,361.50	\$12.00	\$33,300.00
P45 REFL PAV MRKR TY II-C-R	1,606	EA	\$3.75	\$6,022.50	\$4.00	\$6,424.00	\$4.35	\$6,986.10	\$3.89	\$6,247.34	\$4.76	\$7,644.56	\$5.00	\$8,030.00
P46 REFL PAV MRK TY I (W) (ARROW)	37	EA	\$190.00	\$7,030.00	\$210.00	\$7,770.00	\$141.75	\$5,244.75	\$95.00	\$3,515.00	\$156.60	\$5,794.20	\$220.00	\$8,140.00
P47 REFL PAV MRK TY I (W) (WORD)	19	EA	\$195.00	\$3,705.00	\$220.00	\$4,180.00	\$141.75	\$2,693.25	\$125.00	\$2,375.00	\$156.60	\$2,975.40	\$250.00	\$4,750.00
TOTAL: BASE BID - PAVING IMPROVEMENTS				\$3,991,348.46		\$3,946,318.58		\$4,176,461.21		\$4,726,825.61		\$4,420,279.70		\$5,323,698.69
Item Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No. BASE BID - TRAFFIC IMPROVEMENTS														
TR1 DRILL SHAFT (TRF SIG POLE) (24 IN)	4	LF	\$325.00	\$1,300.00	\$230.00	\$920.00	\$341.25	\$1,365.00	\$315.00	\$1,260.00	\$1,788.72	\$7,154.88	\$1,800.00	\$7,200.00
TR2 CONDT (PVC) (SCH 40) (3")	100	LF	\$16.00	\$1,600.00	\$18.00	\$1,800.00	\$16.80	\$1,680.00	\$15.00	\$1,500.00	\$32.48	\$3,248.00	\$33.00	\$3,300.00
TR3 ELEC CONDR (NO. 6) BARE	100	LF	\$2.00	\$200.00	\$2.00	\$200.00	\$2.10	\$210.00	\$2.59	\$259.00	\$3.13	\$313.00	\$3.00	\$300.00
TR4 ELEC CONDR (NO. 6) INSULATED	300	LF	\$2.00	\$600.00	\$2.00	\$600.00	\$2.10	\$630.00	\$2.63	\$789.00	\$3.13	\$939.00	\$3.00	\$900.00
TR5 ALUMINUM SIGNS (TY A) (R10-6)	4	EA	\$300.00	\$1,200.00	\$650.00	\$2,600.00	\$315.00	\$1,260.00	\$754.00	\$3,016.00	\$303.92	\$1,215.68	\$310.00	\$1,240.00
TR6 ALUMINUM SIGNS (TY A) (R10-23)	2	EA	\$300.00	\$600.00	\$650.00	\$1,300.00	\$315.00	\$630.00	\$785.00	\$1,570.00	\$375.84	\$751.68	\$382.00	\$764.00
TR7 ALUMINUM SIGNS (TY A) (R10-23 AND R10-23a)	2	EA	\$300.00	\$600.00	\$970.00	\$1,940.00	\$315.00	\$630.00	\$857.00	\$1,714.00	\$528.96	\$1,057.92	\$540.00	\$1,080.00
TR8 ALUMINUM SIGNS (TY A) (W11-2)	4	EA	\$300.00	\$1,200.00	\$650.00	\$2,600.00	\$315.00	\$1,260.00	\$867.00	\$3,468.00	\$303.92	\$1,215.68	\$310.00	\$1,240.00
TR9 ALUMINUM SIGNS (TY A) (W16-9P)	4	EA	\$300.00	\$1,200.00	\$650.00	\$2,600.00	\$315.00	\$1,260.00	\$879.00	\$3,516.00	\$303.92	\$1,215.68	\$310.00	\$1,240.00
TR10 ALUMINUM SIGNS (TY O) (HAY RIVER)	2	EA	\$300.00	\$600.00	\$650.00	\$1,300.00	\$315.00	\$630.00	\$2,210.00	\$4,420.00	\$998.76	\$1,997.52	\$1,000.00	\$2,000.00
TR11 IN SM RD SN SUP&AM TY10BWG(1)SA(P)	8	EA	\$650.00	\$5,200.00	\$830.00	\$6,640.00	\$719.25	\$5,754.00	\$715.00	\$5,720.00	\$794.60	\$6,356.80	\$1,350.00	\$10,800.00
TR12 VEH SIG SEC (12 IN) LED (GRN ARW)	4	EA	\$300.00	\$1,200.00	\$150.00	\$600.00	\$315.00	\$1,260.00	\$125.00	\$500.00	\$145.00	\$580.00	\$150.00	\$600.00
TR13 VEH SIG SEC (12 IN) LED (YEL)	6	EA	\$300.00	\$1,800.00	\$150.00	\$900.00	\$315.00	\$1,890.00	\$120.00	\$720.00	\$145.00	\$870.00	\$150.00	\$900.00
TR14 VEH SIG SEC (12 IN) LED	8	EA	\$300.00	\$2,400.00	\$150.00	\$1,200.00	\$315.00	\$2,520.00	\$125.00	\$1,000.00	\$145.00	\$1,160.00	\$150.00	\$1,200.00
TR15 VEH SIG SEC (12 IN) LED (RED)	12	EA	\$300.00	\$3,600.00	\$150.00	\$1,800.00	\$315.00	\$3,780.00	\$120.00	\$1,440.00	\$145.00	\$1,740.00	\$150.00	\$1,800.00
TR16 VEH SIG SEC (12 IN) LED (RED ARW)	8	EA	\$300.00	\$2,400.00	\$150.00	\$1,200.00	\$315.00	\$2,520.00	\$125.00	\$1,000.00	\$145.00	\$1,160.00	\$150.00	\$1,200.00
TR17 PED SIG SEC (LED) (COUNTDOWN) (INSTALL ONLY)	2	EA	\$200.00	\$400.00	\$320.00	\$640.00	\$210.00	\$420.00	\$470.00	\$940.00	\$345.68	\$691.36	\$350.00	\$700.00
TR18 BACK PLATE (12 IN) (3 SEC)	6	EA	\$100.00	\$600.00	\$50.00	\$300.00	\$105.00	\$630.00	\$85.00	\$510.00	\$70.76	\$424.56	\$72.00	\$432.00
TR19 BACK PLATE (12 IN) (5 SEC)	4	EA	\$110.00	\$440.00	\$62.00	\$248.00	\$115.50	\$462.00	\$80.00	\$320.00	\$84.68	\$338.72	\$86.00	\$344.00
TR20 TRF SIG CBL (TY A) (14 AWG) (5 CONDR)	250	LF	\$2.00	\$500.00	\$2.40	\$600.00	\$2.10	\$525.00	\$4.38	\$1,095.00	\$2.20	\$550.00	\$2.25	\$562.50
TR21 TRF SIG CBL (TY A) (14 AWG) (7 CONDR)	290	LF	\$2.00	\$580.00		\$754.00		\$609.00	\$4.54	\$1,316.60		\$774.30	\$3.00	\$870.00
TR22 TRF SIG CBL (TY A) (14 AWG) (10 CONDR)	290	LF	\$3.00	\$870.00		\$986.00	\$3.15	\$913.50	\$4.76	\$1,380.40	\$3.25	\$942.50	\$3.25	\$942.50
TR23 TRF SIG CBL (TY C) (12 AWG) (2 CONDR)	80	LF	\$2.00	\$160.00	\$3.00	\$240.00	\$2.10	\$168.00		\$214.40		\$157.60	\$2.00	\$160.00
TR24 RELOCATE PED PUSH BUTTON POST ASSEM	1	EA	\$1,400.00	\$1,400.00	\$1,900.00	\$1,900.00	\$1,470.00	\$1,470.00		\$1,870.00	\$1,590.36	\$1,590.36	\$1,600.00	\$1,600.00
TR25 PED DETECT PUSH BUTTON (APS)	4	EA	\$750.00	\$3,000.00	\$370.00	\$1,480.00	\$787.50	\$3,150.00	\$787.00	\$3,148.00	\$885.08	\$3,540.32	\$900.00	\$3,600.00
TR26 PED DETECT CONTROLLER UNIT	1	EA	\$3,200.00	\$3,200.00	\$4,500.00	\$4,500.00	\$3,360.00	\$3,360.00		\$4,000.00	\$4,274.60	\$4,274.60	\$6,000.00	\$6,000.00
TR27 INSTALL HIGHWAY TRAFFIC SIGNAL	1	LS	\$26,750.00	\$26,750.00	\$32,000.00	\$32,000.00	\$28,087.50	\$28,087.50		\$35,000.00	\$12,437.52	\$12,437.52	\$13,000.00	\$13,000.00
TR28 PROVIDE AND INSTALL LED LIGHTS AT HAY RIVER	6	EA	\$1,200.00	\$7,200.00	\$800.00	\$4,800.00	\$1,260.00	\$7,560.00	\$800.00	\$4,800.00	\$1,721.44	\$10,328.64	\$1,800.00	\$10,800.00
TR29 CONDT (PVC) (SCH 40) (2")	30	LF	\$14.00	\$420.00		\$900.00	\$14.70	\$441.00		\$311.70		\$904.80	\$150.00	\$4,500.00
TR30 CONDT (PVC) (SCH 40) (4")	30	LF	\$17.00	\$510.00	\$35.00	\$1,050.00	\$17.85	\$535.50		\$586.50	\$39.44	\$1,183.20	\$150.00	\$4,500.00
TOTAL: BASE BID - TRAFFIC IMPROVEMENTS	TOTAL:			\$71,730.00		\$78,598.00		\$75,610.50		\$87,384.60		\$69,114.32		\$83,775.00

Coit Road Widening (Main Street to Buckeye Drive)
PROJECT NO. 20104
BID NO. 2108-100

City of Frisco

	CHECKED BY: Bo Ratto, P.E. 11/15/2021	BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6			
				Mario :	Sincola	DDM Co	onstruction	Tiseo F	Tiseo Paving Co		Ragle Inc		McMahon Contracting LP		e Paving
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	LID - ILLUMINATION IMPROVEMENTS														
ILL1	RELOCATE EXIST. LUMINAIRE POLE	12	EA	\$1,200.00	\$14,400.00	\$1,600.00	\$19,200.00	\$1,260.00	\$15,120.00	\$1,850.00	\$22,200.00	\$802.72	\$9,632.64	\$816.00	\$9,792.00
ILL2	DRILL SHAFT (RDWY ILL POLE) (30 IN X 8')	12	EA	\$2,400.00	\$28,800.00	\$2,500.00	\$30,000.00	\$2,520.00	\$30,240.00	\$1,980.00	\$23,760.00	\$2,670.32	\$32,043.84	\$2,700.00	\$32,400.00
ILL3	RDWY ILL POLE ANCHOR BOLT SET	12	EA	\$750.00	\$9,000.00	\$760.00	\$9,120.00	\$787.50	\$9,450.00	\$785.00	\$9,420.00	\$476.76	\$5,721.12	\$500.00	\$6,000.00
ILL4	ILL CONNECTOR KIT	12	EA	\$750.00	\$9,000.00	\$1,100.00	\$13,200.00	\$787.50	\$9,450.00	\$155.00	\$1,860.00	\$220.40	\$2,644.80	\$224.00	\$2,688.00
ILL5	DOUBLE BREAKAWAY FUSE HOLDER W/ 10 AMP FUSE	12	EA	\$200.00	\$2,400.00	\$94.00	\$1,128.00	\$210.00	\$2,520.00	\$178.00	\$2,136.00	\$220.40	\$2,644.80	\$224.00	\$2,688.00
ILL6	ELEC CONDR (NO. 6) BARE	5,000	LF	\$2.00	\$10,000.00	\$1.50	\$7,500.00	\$2.10	\$10,500.00	\$2.35	\$11,750.00	\$3.13	\$15,650.00	\$3.25	\$16,250.00
ILL7	ELEC CONDR (NO. 6) XHHW	10,000	LF	\$2.00	\$20,000.00	\$1.50	\$15,000.00	\$2.10	\$21,000.00	\$2.29	\$22,900.00	\$3.13	\$31,300.00	\$3.25	\$32,500.00
ILL8	TYPE III LED FIXTURE (INSTALLED)	24	EA	\$175.00	\$4,200.00	\$160.00	\$3,840.00	\$183.75	\$4,410.00	\$688.90	\$16,533.60	\$1,132.16	\$27,171.84	\$1,150.00	\$27,600.00
ILL9	26" X 38" ITS POLYMER GROUND BOX WITH CONCRETE APRON	20	EA	\$3,475.00	\$69,500.00	\$3,500.00	\$70,000.00	\$3,648.75	\$72,975.00	\$5,870.00	\$117,400.00	\$3,800.16	\$76,003.20	\$3,865.00	\$77,300.00
ILL10	2" PVC (SCH-40) (BORE)	3,100	LF	\$34.00	\$105,400.00	\$26.00	\$80,600.00	\$35.70	\$110,670.00	\$22.95	\$71,145.00	\$31.32	\$97,092.00	\$32.00	\$99,200.00
ILL11	2" PVC (SCH-40) (TRENCH)	2,700	LF	\$18.00	\$48,600.00	\$15.00	\$40,500.00	\$18.90	\$51,030.00	\$10.76	\$29,052.00	\$25.52	\$68,904.00	\$26.00	\$70,200.00
ILL12	MULTI DUCT CONDUIT (2-4") (SCH-40) (BORE)	140	LF	\$60.00	\$8,400.00	\$63.00	\$8,820.00	\$63.00	\$8,820.00	\$35.66	\$4,992.40	\$54.52	\$7,632.80	\$56.00	\$7,840.00
ILL13	MULTI DUCT CONDUIT (3-4") (SCH-40) (BORE)	1,500	LF	\$42.00	\$63,000.00	\$70.00	\$105,000.00	\$44.10	\$66,150.00	\$38.90	\$58,350.00	\$89.32	\$133,980.00	\$91.00	\$136,500.00
ILL14	MULTI DUCT CONDUIT (3-4") (SCH-40) (TRENCH)	9,000	LF	\$32.00	\$288,000.00	\$45.00	\$405,000.00	\$33.60	\$302,400.00	\$25.98	\$233,820.00	\$56.84	\$511,560.00	\$58.00	\$522,000.00
		1	EA	\$1,200.00	\$1,200.00	\$760.00	\$760.00	\$1,260.00	\$1,260.00	\$1,050.00	\$1,050.00	\$1,062.56	\$1,062.56	\$1,080.00	\$1,080.00
		1	LS	\$4,500.00	\$4,500.00	\$7,000.00	\$7,000.00	\$4,725.00	\$4,725.00	\$5,000.00	\$5,000.00	\$6,396.24	\$6,396.24	\$6,500.00	\$6,500.00
	BASE BID - ILLUMINATION IMPROVEMENTS	TOTAL:			\$686,400.00	·	\$816,668.00)	\$720,720.00		\$631,369.00		\$1,029,439.84		\$1,050,538.00
101712	DIVOL DID ILLEGIMM WHOM IND VEMENTO				, , , , , , , , , , , , , , , , , , , ,	l	, , , , , , , , , , , ,		, ,, , , , ,		, ,		, ,, ,, ,,		, , , , , , , , , , , , , , , , , , , ,
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	·														
BASE B	ID - LANDSCAPE IMPROVEMENTS														
L1	BERMUDA SOD	615	SY	\$3.60	\$2,214.00	\$8.00	\$4,920.00		\$3,198.00	\$10.00	\$6,150.00	\$5.80	\$3,567.00		\$4,305.00
L2	1" TEJAS BLACK ROCK (4")	7,730	SY	\$35.00	\$270,550.00	\$28.00	\$216,440.00		\$243,495.00	\$25.00	\$193,250.00	\$42.33	\$327,210.90		\$417,420.00
L3	REINFORCED CONCRETE MOW STRIP (12" X 6")	1,740	LF	\$18.30	\$31,842.00	\$27.00	\$46,980.00		\$39,324.00	\$30.00	\$52,200.00	\$20.88	\$36,331.20	\$30.00	\$52,200.00
L4	OKLAHOMA BOULDER ROCK, 1.5 TON MIN.	71	EA	\$515.00	\$36,565.00	\$460.00	\$32,660.00		\$41,002.50	\$400.00	\$28,400.00	\$527.80	\$37,473.80		\$51,262.00
L5	SHUMARD RED OAK, 6" CALIBER	6	EA	\$2,450.00	\$14,700.00	\$3,200.00	\$19,200.00		\$15,120.00	\$2,800.00	\$16,800.00	\$2,262.00	\$13,572.00	\$3,000.00	\$18,000.00
	BLONDE AMBITION BLUE GRAMA, 3 GALLON DWARF WAX MYRTLE, 7 GALLON	12,730 220	EA EA	\$19.50 \$54.00	\$248,235.00 \$11,880.00	\$24.00 \$49.00	\$305,520.00 \$10,780.00		\$260,965.00 \$11,440.00	\$21.00 \$42.50	\$267,330.00 \$9,350.00	\$21.58 \$48.82	\$274,713.40 \$10,740.40	\$29.00 \$53.00	\$369,170.00 \$11,660.00
	INLAND SEA OATS, 3 GALLON	7,927	EA	\$16.00	\$126,832.00		\$190,248.00		\$162,503.50		\$166,467.00		\$197,699.38		\$229,883.00
L8 L9	MEXICAN FEATHERGRASS, 7 GALLON	278	EA	\$54.00	\$15,012.00		\$13,622.00		\$13,872.20		\$11,815.00		\$13,571.96		\$15,290.00
	MULCH	750	CY	\$45.00	\$33,750.00		\$30,000.00		\$35,437.50		\$26,250.00		\$32,190.00		\$43,500.00
L10	RED YUCCA 'BRAKE LIGHTS', 7 GALLON	343	EA	\$95.00	\$32,585.00		\$28,812.00		\$17,836.00		\$25,039.00		\$22,977.57	\$53.00	\$18,179.00
L11	LANDSCAPE ADJUSTMENT BOTH SIDES OF CAPROCK	1	LS	\$2,000.00	\$2,000.00		\$13,500.00		\$6,300.00		\$12,000.00		\$4,060.00		\$7,200.00
L12	DESERT WILLOW, 30 GAL	4	EA	\$285.00	\$1,140.00	The state of the s	\$13,300.00		\$1,470.00	\$525.00	\$2,100.00		\$908.28		\$1,680.00
L13	MOUNTAIN LAUREL, 30 GAL.	2	EA	\$355.00	\$7,140.00		\$1,200.00		\$945.00		\$1,050.00		\$1,126.94		\$840.00
L14	RISING SUN REDBUD	7	EA	\$535.00	\$3,605.00		\$4,200.00		\$2,572.50		\$3,675.00		\$1,778.28		\$2,940.00
L15	4" TOP SOIL	615	SY	\$6.25	\$3,843.75		\$4,200.00		\$3,228.75		\$6,150.00		\$3,228.75		\$2,940.00
L16	HEAVY DUTY WEED BARRIER FABRIC	7,730	SY	\$6.25 \$0.97	\$3,843.75	\$11.00	\$6,765.00		\$3,228.75	\$10.00	\$38,650.00	\$5.25 \$2.99	\$3,228.75		\$3,690.00
L17 L18	PRIVATE LANDSCAPE ADJUSTMENT, INCLUDE SOD RESTORATION	4	EA	\$1,500.00	\$6,000.00		\$16,400.00		\$6,300.00	•	\$14,320.00		\$6,960.00		\$2,319.00
L19	PARKWAY BERMUDA SOD RESTORATION	1,000	SY	\$3.60	\$3,600.00				\$5,200.00	·	\$10,850.00	· ·	\$5,800.00		\$7,000.00
L20	TREE REMOVAL AND REPLACEMENT (ALLOWANCE)	12	EA	\$193.26	\$2,319.12				\$39,060.00		\$60,000.00		\$10,800.00		\$36,000.00
L20	12" DEEP SOIL BED PREPARATION	3,320	CY	\$47.50	\$157,700.00	The state of the s			\$181,272.00	·	\$102,920.00		\$155,309.60		\$278,880.00
	ı	TOTAL:	<u>.</u>	·	\$1,012,580.97		\$1,147,827.00		\$1,108,320.95		\$1,054,766.00		\$1,183,132.16		\$1,578,618.00
TOTAL: BASE BID - LANDSCAPE IMPROVEMENTS TOTAL:				+ 1,0 12,000.01		\$.,, 0 21.00		Ţ.,.UJ,ULU.U		\$ 1,00 i,i 00.00		\$1,100,102.10		Ţ.,J. J,J. J.	

Coit Road Widening (Main Street to Buckeye Drive)

PROJECT NO. 20104 BID NO. 2108-100 City of Frisco

617E6REB B1. B6 Ratto, 1 .E. 11/16/2021					BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6	
				Mario	Sincola	DDM Construction		Tiseo Paving Co		Ragle Inc		McMahon Contracting LP		Reliable Paving		
Item No.	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	
	ID - IRRIGATION IMPROVEMENTS															
IRR1	IRRIGATION SYSTEM (INCLUDES ALL BORES AND SLEEVES)	1	LS	\$289,000.00	\$289,000.00	\$300,000.00	\$300,000.00	\$295,000.00	\$295,000.00	\$241,289.00	\$241,289.00	\$435,429.46	\$435,429.46	\$379,000.00	\$379,000.00	
IRR2	IRRIGATION ELECTRIC SERVICE	4	EA	\$6,500.00	\$26,000.00	\$8,600.00	\$34,400.00	\$6,825.00	\$27,300.00	\$7,500.00	\$30,000.00	\$6,960.00	\$27,840.00	\$7,100.00	\$28,400.00	
IRR3	TEMPORARY IRRIGATION CONTROL	4	EA	\$1,000.00	\$4,000.00	\$5,200.00	\$20,800.00	\$1,575.00	\$6,300.00	\$4,500.00	\$18,000.00	\$1,740.00	\$6,960.00	\$1,800.00	\$7,200.00	
IRR4	2" WATER SERVICES (CONNECT TO EXISTING WATER LINES)	4	EΑ	\$5,950.00	\$23,800.00	\$8,900.00	\$35,600.00	\$5,040.00	\$20,160.00	\$7,725.00	\$30,900.00	\$1,661.23	\$6,644.92	\$1,800.00	\$7,200.00	
IRR5	2" WATER METER	4	EA	\$2,300.00	\$9,200.00	\$3,700.00	\$14,800.00	\$2,940.00	\$11,760.00	\$3,250.00	\$13,000.00	\$6,123.23	\$24,492.92	\$3,000.00	\$12,000.00	
IRR6	CONDUIT (PVC) (SCH 40) 2 - 4" BORED FOR WATER SERVICE	1,000	LF	\$47.50	\$47,500.00	\$26.00	\$26,000.00	\$31.50	\$31,500.00	\$23.00	\$23,000.00	\$28.00	\$28,000.00	\$36.00	\$36,000.00	
IRR7	CONDUIT (PVC) (SCH 40) 2" BORED FOR ELECTRICAL SERVICE	1,000	LF	\$25.00	\$25,000.00	\$20.00	\$20,000.00	\$31.50	\$31,500.00	\$19.00	\$19,000.00	\$40.00	\$40,000.00	\$67.00	\$67,000.00	
IRR8	CONDUIT (PVC) (SCH 40) 2" BORED FOR TRENCH AND WIRE SERVICE (ALLOWANCE)	1,000	LF	\$30.00	\$30,000.00	\$20.00	\$20,000.00	\$26.25	\$26,250.00	\$19.00	\$19,000.00	\$40.00	\$40,000.00	\$30.00	\$30,000.00	
IRR9	PRIVATE IRRIGATION ADJUSTMENT ON CAPROCK	1	LS	\$2,400.00	\$2,400.00	\$7,500.00	\$7,500.00	\$3,150.00	\$3,150.00	\$6,582.00	\$6,582.00	\$6,380.00	\$6,380.00	\$3,400.00	\$3,400.00	
IRR10	PRIVATE IRRIGATION ADJUSTMENT	4	EA	\$1,500.00	\$6,000.00	\$14,000.00	\$56,000.00	\$1,890.00	\$7,560.00	\$12,500.00	\$50,000.00	\$6,380.00	\$25,520.00	\$2,200.00	\$8,800.00	
TOTAL:	BASE BID - IRRIGATION IMPROVEMENTS	TOTAL:			\$462,900.00		\$535,100.00		\$460,480.00		\$450,771.00		\$641,267.30		\$579,000.00	
BASE B	SID SUMMARY CALCULATED															
					Mario Sincola		DDM Construction		Tiseo Paving Co		Ragle Inc		McMahon Contracting LP		Reliable Paving	
	BASE BID - PAVING IMPROVEMENTS				\$3,991,348.46		\$3,946,318.58		\$4,176,461.21	\$4,726,825.61		\$4,420,279.70			\$5,323,698.69	
	BASE BID - TRAFFIC IMPROVEMENTS				\$71,730.00				\$69,114.32		\$83,775.00					
	BASE BID - ILLUMINATION IMPROVEMENTS				\$686,400.00		\$816,668.00		\$720,720.00		\$631,369.00	9.00 \$1,029,439.8			\$1,050,538.00	
	BASE BID - LANDSCAPE IMPROVEMENTS				\$1,012,580.97		\$1,147,827.00		\$1,108,320.95		\$1,054,766.00		\$1,183,132.16		\$1,578,618.00	
	BASE BID - IRRIGATION IMPROVEMENTS				\$462,900.00		\$535,100.00		\$460,480.00		\$450,771.00		\$641,267.30		\$579,000.00	
TOTAL	BASE BID				\$6,224,959.43		\$6,524,511.58		\$6,541,592.66		\$6,951,116.21		\$7,343,233.32		\$8,615,629.69	